John Deere > Agriculture >BALER, ROUND >450E - BALER, ROUND >450E Round Baler (Worldwide Edition) (PC13257) >100 Pickup - Regular >Pickup Reel,
Regular Pickup, 4ft - ST900455

ETN76051BR3



John Deere > Agriculture >BALER, ROUND >450E - BALER, ROUND >450E Round Baler (Worldwide Edition) (PC13257) >100 Pickup - Regular >Pickup Reel, Regular Pickup, 4ft - ST900455

KEY PART NO. PART NAME QTY REMARKS

1 14M7400 Lock Nut 16 M10

2 19M8292 Screw 16 M10 X 50

3 19M8533 Screw 36 M10 X 25

4 AFH205730 Arm 4

5 AFH204000 Ball Bearing 4 ORDER AFH214085

6 19H3877 Cap Screw 4 1/2" X 1-1/2"

7 FH305954 Washer 4 USE WITH AFH204000
8 FH312167 Pin Fastener 4

9 E76668 Angle 4

10 E79475 Spring Tooth 36

10 A-E79475 Spring Tooth 36

11 FH312165 Disk 1

12 FH304454 Washer 36

13 24H1450 Washer 8 1-1/32" X 1-3/4" X 0.036"
14 19M8131 Screw 2 M10 X 70

15 M82222 Lock Nut 38

15 A-M10LNT Lock Nut 38

16 FH316205 Shaft 1

17 FH316196 Spider 2




	Pickup Reel, Regular Pickup, 4ft - ST900455

